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AQA A2 Biology 

10 Gene technology
1
(a)
So the sticky ends are complementary. 
[1]

(b)
They can grow the bacteria on cultures that contain either tetracycline or ampicillin. 
The bacteria that survive on the ampicillin but not on the tetracycline are the ones with the gene of interest. 
[2]
2
(a)
They have a negative charge because of the phosphate groups. 
[2]

(b)
The smaller ones more through the gel faster because there is less resistance. 
[2]

(c)
A fluorescent or radioactive marker is used. 
[1]

(d)
Daughter 1 is the biological daughter of both parents. 


Daughter 2 is the biological daughter of the mother, but she has a different father.



Son 1 is the biological son of both parents.


Son 2 is not biologically related to either parent. 
[4]
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